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5.3.3 Alcohols
Consider the following alcohols
¢Hs GHs A
Ethanol H;C—-CH—-CH,OH H3C—(I;—(;|-|3 H3C—(|3—CH3

OH OH

A B C D
2-methylbutan-2-ol Butan-2-ol 3-methylbutan-2-ol
E F G

Give the letters of the alcohols which.....

1. Are tertiary alcohols
2. Are oxidised to carboxylic acids
3. Show a colour change orange to green when treated with acidified potassium dichromate solution
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1. (a
butan-1-ol
HOHH O | O e
|
H-G-C-G-CG-H = H-G=G-C-CG-H
HHHH HHHH
A
:OH"
(2 marks)
2. Substitution — the OH- acts as a nucleophile
Elimination — the OH- acts as a base
3.  Substitution — aqueous NaOH
Elimination — ethanolic NaOH
4. H-Br, electrophilic addition
5.3.3
1. C+E
2. A+B
3. ABDEFG
5.34
1.
H\ H
C=C (1 mark)
H H
H50, heat
A \
H,SO,
(1 mark) Ethanol
K,Cry,04
(1 mark)
CH;CHO
(1 mark)
K,Cr,0,
C \I
CH5;COOH
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CHsCH, H

C=C
H H

Y

but-1-ene

(2 marks)

Glucose
(1 mark)

B
Yeast
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